EARAROBEEIERT — 2 N— IBISH —F 20165108230 (H) 3m#E4H

mﬂﬁ% 3Lt 500AT [BFE] 2 ‘ (%] & ‘ [eErE] - | 4 (&) 12000 &
[A&4)] 1 7% :7,000,000 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 43 :1,100,000 @ 5 j& :700,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N PIBEFER 1:12.1 -7 7| 97, 2 1 BT (FER)
117112 BH) Ty B— "3 Y¢54.0 (=) & % 9.8 (312) NAKRF]
Rk v /e E BALATFAINR— BREMFRBEH /) 77— L
o EBAS 2. — . . HREEEA (E£H)
5 o |EaT /7= it 4 xH 1 (152)9 8-9 37.4 ] 90.6 | 1 (4+5:) %ﬁéi
LTSy IAAK B:EaTI T4~ 1- NETHS
N . BERER 112, - . . ERE— (FEH)
N o | Ha bs | s |ws|w7] s | o AR
x4 avR—-5— B:XA14YauN—-% ZH #sh
7 ) o4 | BRE 1:13.0 6-6 37.9| 89.6 | 10 | 512 |fEEEEM (=)
4|5/9|®7L—hTLZX 756.0 (1/2) (12) | ) EFH - TY—F—X - a=5F
R:TH AT Ly h— BiTF—FaxAE— 2z L et
o= = = > FaAL :13. - . . HEER (EH
5 4| 757532 [B] 4| B (171;70) 12-12 | 37.1] 89.7 | 12 (4_%6) el
L:TA=—T4FAF=—H> BV 1 51 X%v> pulasbaec
s 4 5 | FRIEAEA 1:13.2 5-3 38.3| 87.8 | 8 464 | BERE— (3ER)
6|7[13 IBF AL TUR 540 (1 1/4) (o) | 8 ESH - TU—s-Z 2=
L:T7LBAT49 77148 B:T7NTvh BXRAS
KR . it 4 | BEIR 1:13.5 10-10 | 37.7] 85.2 | 9 444 | RIEFET (FH)
] 5Ly R77—-L> 55.0 @) ) ) ERA— LYy
VLK YIYRIZR BATLY—I—X HET7— L
;= o 4 3 | EEBZ 1:13.6 14-13 | 37.5| 84.3 | 15 | 458 |METES (E=)
1|1 7707>>a= 5.0 (172 e | AREX
R:TFATL XML B:I—F—T1T3> FIRMISE
R . NEF :13. - . . HRRER (i)
9 olevxvvrv- 3 A 1(/1\37L)6 12-13 | 37.6| 84.3 | 13 (4_1?12) ALK
R:T7RIfYL—> B:774> KAy [fagae
N o, [1© t2 Rtk — :13. = . . ZHET (EXR)
10[8 15| AL~ A7 K- [B] e e | TR | |
L:N—HINK B:hHLETv =i BS
i . 3 | ANIEIGt 1:13.8 10-10 38.0 | 82.5 | 11 466 | BHFT (EH)
1 7 gL — I‘l:j ~ * A53.0 (1 1/4) +12) k(’H’i) KTL—>29
LHYIRTIIZ B:o74% INT S
s = o ges JERE : - Tk (ER)
12 3| USHFAL R H o4 7 1.(114).0 3-3 39.2| 81.5 | 4 <5+362) =='.A=Z|§a§a£
Rid—WRFY2— B:USISTS—L EBRATF—L4
- FF RIS KRR 114, - . . ERER (EH)
13l8l14| @585 70-1U v Y it 5 g 1(124)3 2-2 39.7]79.3 | 6 (is:g) i
R:voNnNyBzh71 BXE-2>70-Uv7 HET77— L4
= 8Fu 4 3 | HEAA 1:15.1 7-7 39.8| 72.8 | 7 448 | FIEE= (EH)
1458 | Y1717 %7 5.0 (®) 4o | W) EFHTY—g-x-2=%
R/ RS vyy B:T7LzxUR EdHhTT— L
= NN hHEZ :16. - . . BEEH (EAH
05 6| 7v*x—45> [B] o4 Biia 1(18)7 1-1 42.2] 63.3 | 14 ;1;0) A
AT T4LZ2F¥— BYIIHTIA4X Nipse]
@ 21 L
£ 49.1-37.6
NA24 L | 12.2-10.8-11.5-12.8-12.0-12.8
® 1—F—@EBIERL
13—7F-
2ol=5"=
Jo=5r= (¥6,14) (3,15)13,9,8(2,12) (5,7) (4,10) 1-11
AT =5F= (x6,14) (3,13,15)9(8,12)2(5,7)4(10,1) 11
[ N5
B OB 12 320 | | 71 K 2-12 1803 | | # & 2-7 320 | | EE | 2-11-12 820/
# B 12 130M4 11-12 640M B = 2-12 320M 3EE 12-2-11 3,650
2 110 2-11 360M B H 12-2 730M
11 1909

ABICOVWTRDTEEERROODE. TR LIV,



